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1. Gnulwptp Ynunnpuljubpp:

30 + 42 =30 + 42 =72/120
120 120
3 4
4 = =3X1+8X4=235/40
40 5
6+3 =6X5+3X 7 =51/35
7 5
7 5
g+ STxeraxs=s
2. Quuwnbp §nunnpuljutph hwnd:
130 42
_ = 98/100
100 100
13 3
—— — — =116
16 4
10 3
13 7 10x7-13x3=T050=3
10 3
—— — —— =10x28-3x12 =280-36= 244
12 28

3. Guunwupkp puquuuyuwnlynid.

=6/63
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5
*—  =8/1x5/19=40/19
19

4. [Fhyp ukpuywugptp Eplnt unynpujut nuinnpuljutph

wpunwnpjuih nmkupny.
27
— =312 x 9/9
18
16
— =2/5x8/3
15
5. Yuunwupbp pudwtinid:
14 4
. =14/9x 3/4 = 14 x 3/9x4 = 24/36
3
3:f = 3 x 3/4 = 3x3/4 = 9/4
3
17
<5 17 =197 x 171 = 17/9 x 117 = 17x/1/9 x17 = 17/153
6. Uuinnuuhph thnjuwptu h by phy qpiym
ntypniud Junnwgyh hwjwuwpnipnii
3 9
" g— _  =9/7:3125=9/7 x 25/3 = 9 x 25/7 x 3 = 189/21
25 7
3 9
¥ — _ =3/25x9/7=3x9/25x7=27/45



7.1/6 +1/2 + 1/5 = 3/13

/. Lupkt wnwght opp Jwpnug wndpnng gpph %—pr} Uwup,
kplypnpn opp’ >-p, huly kppnpn opp’ —-p: Zwudhlyp wipnng
qhppp hwugpk g Jkpgwgtty 3 opnu:

8. ‘Lupklp whggut pudwikg snpu hwjuuwp dwuh:
Ujunthbwnl unnugdws dwubphg mipuwpuwisinipp tw
pudwttg tpbp hwjwuwp dwuh: Uygptuljut whgguijh
n p dwub B juqunid unnuugdus Yunpubpp:

9. Zmipwungh twppwupwhnud ubknutht gpuws Eu
hinmipwungh pnjnp ukyuwlubph hwdwpubpp. wnweht
hwply 101-110 b 123 -133, kplypnpn huply’ 202-241,
kppopn hwply 300-333: Lwih” ubjwl juw hnopuingnid:

9. 91



